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Instructions 1) There are three Parts in the question paper :
  Part – A : Physics, Part – B : Chemistry, Part – C : Biology.
 2) This question paper consists of 38 questions.
 3) Follow the instructions given against the questions.
 4) Figures in the right hand margin indicate maximum marks for the questions.
 5) The maximum time to answer the paper is given at the top of the question 

paper. It includes 15 minutes for reading the question paper.

PART – A

(Physics)

 I. Four alternatives are given for each of the following questions/incomplete statements. Choose 
the correct alternative and write the complete answer along with its letter of alphabet. 3×1=3

 1) The S.I. Unit of potential difference is
 A) Ampere B) Volt C) Ohm D) Coulomb

 2) In F

 C) Motion   D) Potential difference

 3) Among the following arrangements of resistors, a combination that gives the total resistance 
of 13.5  is

 A) 

9 

9 

9 
              B) 

6 6 6 

 C) 
9 

9 

9 

 D) 
6 

6 

6 

 II. Answer the following questions. 3×1=3

 6) Can an electric heater of 2 kW be connected to a domestic circuit rated 5 A and has a 

P.T.O.
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 III. Answer the following questions. 2×2=4
 7) Draw a circuit diagram that shows combination of resistors in parallel.

straight conductor.

 IV. Answer the following questions. 3×3=9
 9) An electric lamp whose resistance 25  and a conductor of 5  resistance are connected 

 i) The total resistance of the circuit

 iii) Potential difference across the electric lamp and the conductor.

 OR
  50 J of heat is produced each second in a 2  resistance. Find the potential difference across 

the resistor.

 10) In domestic circuit,
 a) What are the reasons for overloading ?
 b) What is the need of 15 A and 5 A circuit ?

 V. Answer the following questions. 2×4=8

 OR

conductor.

C are given in table. Which material can be used 

A B C

2.63 × 10–8 m 1.62 × 10–8 m 1012 m

PART – B
(Chemistry)

 VI. Four alternatives are given for each of the following questions/incomplete statements. Choose 
the correct alternative and write the complete answer along with its letter of alphabet. 3×1=3

 14) An endothermic reaction among the following is
 A) Burning of natural gas   B) Heating of lead nitrate
 C) Decomposition of organic matter D) Breaking down of complex food

 15) The litmus paper that changes its colour when exposed to the fumes of nitric acid is
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 16) On heating, the copper powder becomes black. This is due to

 A) burning of copper

 B) the formation of copper carbonate

 C) oxidation of copper

 D) the absorption of heat

 VII. Answer the following questions. 3×1=3

 17) What are alkalis ?

 VIII. Answer the following questions. 3×2=6

 20) Balance the following chemical equations.

 a) BaCl2 + H2SO4  BaSO4 + HCl

 b) Al + CuCl2  AlCl3 + Cu

 OR
  Translate the following statement into chemical equation and balance the equation.

  

HCl Solution Sugar Solution 

 SET 1 SET 2

 OR
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Brine
solution

X Y

Z

+ _

questions.

Water

Calcium oxide

 a) A product ‘P’ is obtained in this reaction. On passing carbon dioxide on P, a salt ‘Q’ is 
obtained. Name ‘P’ and ‘Q’.

 b) What happens when product ‘Q’ is heated ?

 IX. Answer the following questions. 3×3=9
 23) Draw the diagram showing the arrangement of apparatus for the reaction of zinc granules 

 24) a) What observations helps to determine whether a chemical reaction has taken place ?

 OR
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 X. Answer the following question. 1×4=4
 26) An iron nail is kept immersed in a beaker having copper sulphate solution. After few minutes, 

a brownish coat develops on the iron nail and the blue colour of copper sulphate solution 
fades.

 ii) What are the reasons for the changes that happen in this reaction ?

PART – C

(Biology)

 XI. Four alternatives are given for each of the following questions/incomplete statements. Choose 
the correct alternative and write the complete answer along with its letter of alphabet. 2×1=2

 A) Mitochondria B) Yeast cells

 28) Cerebrum : Thinking : : Medulla : _________
 A) Vomiting B) Dilation of the pupil
 C) Smelling D) Walking on straight line

 XII. Answer the following questions. 2×1=2

 XIII. Answer the following questions. 3×2=6

 32) Draw the diagram to show the structure of nephron and label Bowman’s capsule.

 33) How does growth independent movement occur in touch me not plant ? Explain.

 OR
  A potted bean plant is kept in a dark room with a small ventilation. What changes can be 
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 XIV. Answer the following questions. 3×3=9

 35) Draw the diagram to show the structure of human brain. Label (i) Pons (ii) Cerebellum.

 36) The heart beat increases as soon as we see a snake. Explain the chemical 

 XV. Answer the following question. 1×4=4
 37) a) Mention the different strategies of excretion in the plants.
 b) What is the function of guard cells in stomata ?

 OR

 ii) Pepsin

  b) What is peristaltic movement ?

 XVI. Answer the following question. 1×5=5

 b) Creation of suction pressure during inorganic translocation.
 c) Translocation of food to the tissues that have less pressure.


